NAME KQ{ ___PROJECTILE PRE.]]
1. A A book is pushed with an initia}

velocity of 5.0 meters per second off the Top of \/""f: b) 2.5 /s
desk. What is the initial vertical velocity of the c) 5.0m/s
book? = d) 10. m/s
2. ___ Projectiles are fired from different angles with the same initial speed 6f 14 meters per second. The graph

shows the range of the projectiles as a function of the original angle of inclination to the ground, neglecting air
resistance. The graph shows that the range of the projectiles is

Rangavs. g ofncfnation a) the same for all angles

MAY B b) the same for angles 20.° and 80.°
gm E / A N (C)) greatest for an angle of 45°
E“ A , N : d) greatest for an angle of 90.°
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3. __ Aprojectile is fired from a gun near the surface of Earth. The initial velocity of the projectile has a

vertical component of 98 meters pe d a horizontal component of 49 meters per second. How long will
it take the projectile to reach thgzhighest poindlin its path? 3

a) 5.0s . o vevticad wmehas
v =Vo rast (ady
c) 20. s o =% -48 (& )
d) 100. s (Epest
4, _ Ahball is thrown at an angle of 38° to the horizontal. What happens to the magnitude of the bail’s vertical
acceleration during the total time interval that the ball is in the air?

a) Tt decreases, then increases. a\i;_ -4.4% ot the buve ..
b) It decreases, then remains the same. ‘
¢) It increases, then decreases.

It remains the same. = -—-‘1.81‘}1.—

5. __ Projectile 4 is launched horizontally at a speed of 20. meters per second from the top of a cliff and strikes
a level surface below, 3.0 seconds later. Projectile B is launched horizontally from the same location at a speed of

30. meters per second. = H’D;\? Wo\ dacs wet nﬁ:.d MM\.

The time it takes projectile B to reach the level surface is

a) 45s

6. Calculate the distance traveled for a car that takes off from a horizontal cliff ¢height = 45 m) at 35 m/s.
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